


• Choose the alternative which is closely resembles the mirror image of the given 

combination.

• उस विकल्प को चनुें जो विए गए संयोजन की िपपण छवि के समान है



• Statements: 

• Some actors are singers./कुछ अविनेता गायक हैं।

• All the singers are dancers./सिी गायक नतपक हैं

• Conclusions:

• Some actors are dancers./कुछ अविनेता नतपक हैं।

• No singer is actor./कोई गायक अविनेता नहीं ह।ै



• Which number will replace the question mark ?

• प्रश्न वचन्ह के स्थान पर कौन सी संख्या आएगी ?
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A.262

B. 631

C. 622

D.824



• In a clock the minute hand crosses the hour hand in 65 minutes then find how 

many minutes the clock is getting faster or slower?

• एक घडी में वमनट की सईु घटें की सईु को 65 वमनट में पार करती ह ैतो ज्ञात कीवजए वक घडी वकतने 

वमनट तेज या धीमी हो रही ह?ै

A.
5

11
minute fast

B.
5

11
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• Arrange the following words according to dictionary order.

• वनम्नविवित शब्िों को शब्िकोश क्रम के अनसुार व्यिवस्थत कीवजये।

• 1. Soften

• 2. Sterilize

• 3. Stick

• 4. Sterile

• 5. Status

A.15423

B. 25134

C. 54213

D. 32154



• Select the option that is related to the third word in the same way as the second 

word is related to the first word.

• उस विकल्प का चयन कीवजये जो तीसरे शब्ि से उसी प्रकार संबंवधत ह ैवजस प्रकार िसूरा शब्ि 

पहिे शब्ि से संबंवधत ह।ै 

• Ohmmeter : Resistance : : Xymometer : ?

• ओममीटर: प्रवतरोध : : जाइमोमीटर : ?
A.Density/घनत्ि

B. Viscosity/श्यानता

C. Fermentation/वकण्िन

D.Radiation/विवकरण



• Pointing to the portrait of a gentleman, Rashmi says, "He is the father-in-law of 

my son's wife." How is the person related to Rashmi?

• एक सज्जन के वचत्र की ओर इशारा करते हुए, रवश्म कहती ह,ै "िह मेरे पतु्र की पत्नी के ससरु हैं।" 

व्यवि रवश्म से वकस प्रकार संबंवधत ह?ै

A.Brother in law

B. Brother

C. Cousin

D.Husband



• Three of the following four letter-clusters are alike in a certain way and one is 

different. Select the odd one out.

• वनम्नविवित चार अक्षर-समहूों में से तीन एक वनवित तरीके से समान हैं और एक विन्न ह।ै बेमेि 

को चनुें।

A.UPITG

B. CXQBO

C. EZSFV

D.IDWHU



• If the 10th day of a month of 30 days is Tuesday, then what day of the week 

will be the last day of that month?

• यवि 30 विन िािे महीने में िसिे विन मगंििार ह,ै तो उसी महीने के आविरी विन हफ्ते का कौनसा 

विन होगा?

A.Monday

B. Friday

C. Wednesday

D.Sunday



• In a certain code language, SEMANTIC is coded as 14485293. How would 

PRACTICE be coded in that language?

• एक वनवित कूट िाषा में, SEMANTIC को 14485293 के रूप में कूटबद्ध वकया जाता ह।ै उस 

िाषा में PRACTICE को कैसे कूटबद्ध वकया जाएगा?

A. 29137934

B. 81943145

C. 79832934

D. 79132935



• Rajneesh walks 35 km towards North. He takes a left turn and walks 20 km. He 

takes a left turn and walks 35 km. Then how far (in km) is he now from his 

starting position?

• रजनीश उत्तर की ओर 35 वकमी चिता ह।ै िह बायीं ओर मडु जाता ह ैऔर 20 वकमी चिता ह।ै 

िह बायीं ओर मडु जाता ह ैऔर 35 वकमी चिता ह।ै तो िह अब उसके प्रारंविक स्थान से वकतनी 

िरूी (वकमी में) पर ह?ै

A.25

B. 90

C. 20

D.10/2



• Study the given pattern carefully and select the number which can replace the 

question mark (?) in it.

• विए गए स्िरूप का ध्यानपिूपक अध्ययन कीवजए और उस संख्या का चयन कीवजए जो इसमें प्रश्न 

वचह्न (?) का स्थान िे सकती ह।ै

A.11

B. 21

C. 19

D.15

9 14 7

130 135 168

13 9 ?



• The sum of the two digits of a two digit number is 13 and the number obtained 

by interchanging the two digits is 27 less than the original number. What is the 

original number?

• िो अंकों की एक संख्या के िो अंकों का योग 13 ह ैऔर िो अंकों को आपस में बििने पर प्राप्त 

संख्या मिू संख्या से 27 कम ह।ै मिू संख्या क्या ह?ै

A.85

B. 76

C. 94

D.58



• The cost of each notebook is ₹12. The cost of each pen is ₹ 9. Tina spends a 

total of ₹ 123 on these 11 items. How many notebooks did he buy?

• प्रत्येक नोटबकु का मलू्य ₹12 ह।ै प्रत्येक पेन का मलू्य ₹9 ह।ै टीना इन 11 िस्तओु ंपर कुि ₹123 

िचप करती ह।ै उसने वकतनी नोटबकु िरीिी ?

A.9

B. 6

C. 11

D.8



• Choose the number from the given alternatives that can replace the question 

mark (?) in the following series.

• विए गए विकल्पों में से िह संख्या चवुनए जो वनम्नविवित शं्रििा में प्रश्निाचक वचह्न (?)

• 13, 25, 47, 83, ?

A.273

B. 173

C. 137

D.237



• Statement:

• All rats are cats./सिी चहू,े वबवल्ियााँ हैं 

• Some cats are not dogs./कुछ वबवल्ियााँ, कुत्ते नहीं हैं।

• Conclusion:

• 1. Some dogs are not rats./कुछ कुत्ते, चहू ेनहीं हैं। 

• II. Some dogs are rats./कुछ कुत्ते, चहू ेहैं।



• Total number of square?

• िगप की कुि संख्या?

A.11

B. 21

C. 24

D.26


